when-after!!-40

when-after(e;info;pred?;init; Trans;val;time)
=qef if first(e)
then let s = Az.init(loc(e),x)+time(e) in <s, Trans(loc(e).kind(e),val(e),s)>
else let s = when-after(pred(e);info;pred?;init; Trans;val;time).2
+(time(e)) - (time(pred(e))) in <s, Trans(loc(e),kind(e),val(e),s)>
fi

clarification:

when-after(e;info;pred?;init; Trans;val;time)
=qet if first(pred?;e)
then let s= Axz.init(loc(infose),x)+time(e) in
<s, Trans(loc(infose),kind(info;e),val(e),s)>
else let s= when-after(pred(pred?;e);info;pred?;init; Trans;val;time).2
+(time(e)) - (time(pred(pred?;e))) in
<s, Trans(loc(info;e) kind(info;e),val(e),s)>
fi
(recursive)
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